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Ideals for irreducible componentfbf Xpar

I =W = 4 —u 1)

* 1 irreducible components of dim¢ = 0, with total 58 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIY=(u®—u" 4. - —u+1)

(i) Arc colorings

= (3)

ag —
az =
ag =

aq =

ul —3ut +2u%+1
—u8 + 4ub — 4
w’ — 4u® + 4ud

uw —3u +2ud +u

—ull 4+ 6w — 1247 + 8u® — w3 + 2u
—uM + 50 —8u” +3u +udt+u
—u? + 130+ 4?4 1

—u?6 + 1207 + -+ 4 6ut — P

w?t — 10w + -+ 10u3 + u

—u? 11 4 20

u® — 2613 + -+ - 4+ 10u® + 2u
a2 =

ag =
—uST + 27U + - 4 2ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u’® — 104u®3 + -+ — 12u — 2

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7,C10 w — T — U+ T
C2,C3,C8 - — w1
C4, Ce ub — P 4 = Bu+2
C5,C11,C12 T R L Ry RS |
Co u®® + 3uT 4 — 129u — 192




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

€1, C7, C10 y58 + 61y57 + -+ 913y + 49

C2,C3,Cg y58_55y57++5y+1

C4, Ce Y8 =27y 4+ 423y + 4

C5,C11,C12 Y2 495" + - 45y +1

C9 y°8 — 2757 + ... — 1316865y + 36864




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1CS) Cusp shape
u=—1.14724 —1.35276 0
uw= 1.151380 + 0.0581611 2.53228 4+ 3.796121 0
u= 1.151380 — 0.05816171 2.53228 — 3.796121 0

~
IS

0.481555 + 0.6649031

11.99140 + 2.207831

4.22893 — 3.070251

u = 0.481555 — 0.6649031 11.99140 — 2.207831 4.22893 4 3.070251
u = —0.443054 + 0.6869011 7.60131 — 10.067001 0.80807 + 7.840451
u = —0.443054 — 0.6869011 7.60131 + 10.067001 0.80807 — 7.840451
u = —0.515153 + 0.6279471 7.87503 4 5.692231 1.58915 — 1.879391
u = —0.515153 — 0.6279471 7.87503 — 5.692231 1.58915 + 1.879391
u = 0.438326 4 0.6751691 2.65616 + 6.144451 | —3.69389 — 6.696941
u= 0.438326 — 0.6751691 2.65616 — 6.144451 | —3.69389 + 6.696941
u = 0.501005 + 0.6186651 2.90568 — 1.852341 | —2.97160 + 0.636841
u = 0.501005 — 0.6186651 2.90568 4+ 1.852341 | —2.97160 — 0.636841
u = —0.442362 4 0.6483771 5.01043 — 2.204841 | —0.34907 + 2.509171
u = —0.442362 — 0.6483771 5.01043 4-2.204841 | —0.34907 — 2.509171
u = —0.466755 + 0.6262151 5.10910 — 1.980141 0.15978 + 4.149761
u = —0.466755 — 0.6262151 5.10910 + 1.980141 0.15978 — 4.149761
u = —1.307560 4 0.1893471 4.08058 — 1.657121 0
u = —1.307560 — 0.1893471 4.08058 + 1.657121 0
uw=1.331250 + 0.2079881 0.86765 + 5.452451 0
u= 1331250 — 0.2079881 0.86765 — 5.452451 0
u = 0.188380 4 0.6170551 0.49984 + 6.308181 | —4.83696 — 8.023561
u = 0.188380 — 0.6170551 0.49984 — 6.308181 | —4.83696 + 8.023561
U 1.354390 + 0.0505331 3.56112 4 0.157741 0
u = 1.354390 — 0.0505331 3.56112 — 0.157741 0
u = —1.351690 + 0.1303131 4.61294 — 2.747211 0
u = —1.351690 — 0.1303137 4.61294 + 2.747211 0
u = —1.345480 4 0.22013171 5.32159 — 9.345891 0
u = —1.345480 — 0.2201311 5.32159 +9.345891 0
u = —0.155934 + 0.6024521 —3.78873 — 2.514251 | —10.60618 + 5.421251




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —0.155934 — 0.6024521

—3.78873 + 2.514251

—10.60618 — 5.421251

u=0.107983 + 0.5965511

—0.304445 — 1.1829701

—7.28418 — 0.769911

u= 0.107983 — 0.5965511

—0.304445 + 1.1829701

—7.28418 4 0.769911

u = —0.366762 + 0.4650791

4.44827 — 1.541851

2.24711 4 4.568501

u = —0.366762 — 0.4650791

4.44827 + 1.541851

2.24711 — 4.568501

u = —1.411190 4 0.0544921 8.16493 + 2.734731 0
u = —1.411190 — 0.0544921 8.16493 — 2.734731 0
u= 1.40642 + 0.150831 10.05250 + 3.760351 0
u= 140642 — 0.150831 10.05250 — 3.760351 0

u= 0.547094 4 0.1390341 2.23185 — 3.442151 0.89332 + 2.640241
u= 0.547094 — 0.1390341 2.23185 + 3.442151 0.89332 — 2.640241
u = —0.511205 —1.78784 —4.31540

u= 147373+ 0.236091 11.19640 + 5.442351 0

w= 147373 —0.236091 11.19640 — 5.442351 0

uw= 147805+ 0.223307 11.39260 + 5.085241 0

u= 1.47805—0.223307 11.39260 — 5.085241 0

u = —1.47640 + 0.245491 8.84229 — 9.507591 0

u = —1.47640 — 0.245491 8.84229 4 9.507591 0

u = —1.48567 + 0.213071 9.33313 — 1.168911 0

u = —1.48567 — 0.213071 9.33313 4+ 1.168911 0

u= 148008 + 0.249231 13.8182 + 13.48511 0

uw=1.48008 — 0.249231 13.8182 — 13.48511 0

u= 149285+ 0.212001 14.3880 — 2.64781 0

uw=1.49285 — 0.212007 14.3880 + 2.64781 0

u = —1.49028 + 0.233197 18.3827 — 5.48131 0

u = —1.49028 — 0.233197 18.3827 + 5.48131 0

u = 0.155026 4 0.3965791

—0.139434 4 0.7817611

—4.01123 — 8.802921

u = 0.155026 — 0.3965791

—0.139434 — 0.7817611

—4.01123 + 8.802921




II. u-Polynomials

Crossings u-Polynomials at each crossing
58 57 ,
C1,C7,C10 u — Tu +*79LL+7
Co2,C3,C8 w = w1
C4,Cg wW =T —3u+2
C5,C11, C12 R T R TR |
€9 u’® + 30" + -+ — 129u — 192




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C7,C10 y°® +61y°7 + -+ + 913y + 49
C2,C3,C8 y* —55y°7 -+ 5y + 1
Ca, Co Y —27yST . 423y 4+ 4
C5,C11, C12 y58+49y57+~--+5y+1
Co %8 — 275 4 ...

— 1316865y + 36864




